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Command Window

>> X=1:5;

>> y=[2 3 5 1 &]:
>> plot (%, V)
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clear all;close all;clc

¥x=-30:0.01:30;

y=sin(x)./%;
plot (%, y)
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ploti(x,v, "——")
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plot(x,y,'r'")
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RGB Value Short Long Name
Name

[L 1 0O] v vellow

[L O 1] m macgenta

[0 1 1] o CYan

[L O O] r red

[0 1 0] o gresn

[0 0 1] b blue

[L 1 1] W white

[0 O O] K hlack
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'square’ or 's'

'‘diamond or 'd’

'‘mentagram or 'p'

‘hexagram or
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‘Marker Type

Flus sign

Circle

Asterisk

Foint

Cross

Square
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Upward-pointing triangle
Downward-pointing triangle
Right-pointing triangle
Left-pointing triangle
Five-pointed star (pentagram)

Six-pointed star (hexagram)
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8 — figure "2
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1 — clear all j;close zll;clce
2= X = 0:p1/10:2%pi;
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2|5 vl = s51in(x);
4 — y2 = 51in(x-0.25);
5 — v3 = s51in(x-0.5);
6 — plot(x,vl, 'g',x,v2, 'b——0'",x,y3,"'c*")
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1— clear all rclose all;clc
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4 — figure i
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: plot @b y8)u0

clear all ;close zall;clc

X = -pl:pi/10:pi;

y = tan(sin(x)) - sin(tan(x)):
plot(x,y,"'——k',"linewidth', 4)
title('2-D Line Plot")

xlabel ("x")

ylabel('tan(sin(x)) - sin(tan(x))")

2-D Line Plot
T

==
3
%
1
3
a
i

/)
2+ " e
(VA
I v\
2 1k I \
€ ] \
- 0 = -
g \ I
2 \ I
8 -1 L\ 'l
\A
2 ‘I "'




: plot @b y8)u0

Olgs (o0 100l Cowd I laged ssis oty buzo 3 P93 W9y o

A plosl |y oy lagsss

u)yac\.:)»bomrotm|ut‘o.«|o»Le»|)30|9)L;odSw|;JdJ )\
u@;)lfmutowyyhugng;o)oJ@b@

MATLAB R2012a

Figure 1

3

2_

1+

Ocdde| LR

File Edit View |Insert | Tools | Desktop Window Help

Edit Plot H| m O

Zoom In

Zoom Out

Pan

Rotate 3D

Data Cursor

Brush

Link

Reset View

Options 3
Pin to Axes

Snap To Layout Grid

View Layout Grid

Smart Align and Distribute
Align Distribute Tool ...
Align 3
Distribute

Brushing

Basic Fitting 2
Data Statistics

==
3
%
1
3
a
i




o0 )
: hold jgiws ,0)20
.ﬁaﬂba3031§§*u|)91ud)(;H|j|th:&uﬂ‘qjg‘oﬁﬁ;
.).le R WAEVINTY (hO].d On) JL.Ya =\Y UJL> )' > )'Jg.o:’ )'.59.03 6)'.)5 3
b solg> dolsl sl saus wiivgy (hold off) jgiuws S ol G g £,

hold

Retain current graph when adding new graphs

==
3
%
1
3
a
i

Syntax
hold on
hold off
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clear all ;close all;clc

X = 0:p1/100:2%p1;

Yy = 31n(x);

figure (1)
plot(x,vy,'qg','linewidth', 4)

hold on

plot(x,sin(2*x),"'-—-r', 'linewidth', 2)
plot(x,s5in(3*x),'-.b'", "linewidth"', 3)
plot(x,sin(4*x),"k", "linewidth', 2)
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xlabel (* X sgme oz BN

ylabel (“ ‘) LY Jome a4 {

title(* ) 13905 VU Olgic R:

)

grid on + grid off 13900 buzo O3, (g3 S 3%

text (x,y, " ) 02> Jzme U3 Jlges (59 e b gd a

a0

gtext(’ I) (u-»gl.o l: c.S.JS) o|9-$ Jdo J:u» ) )l),.o.i S9) o u.awy ;i

hold on + hold off B (§9 J>ges Jizz 35,5 )| )8 c
figure(n) S 50 Mdgi Ylged ewy) s N o)l o iy
close (n) + close all D o N o led o iy
axis([xmin xmax ymin ymax]) dlgsds 21l 4y oX Olaiske juuss
legend(” ‘) 3505 slosal) sloul




: Subplot ygiws
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: Subplot jgiwa

clear all

close all

clc

X = —pi:pi/10:pi;

v = tan(sin(x)) - sin(tan(x)):

subplot(2,2,1)
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plot(x,v, 'r', 'LineWidth"', 4) ’ ‘
subplot (2,2, 2) ’ ’
plot(x,v,'qg', 'LineWidth', 4) 0 0
subplot (2,2, 3) 2 : 20
plot(x,v, 'k', 'LineWidth', 4) 4, 5 : ; ; 4, ; : ;
subplot(2,2,4)
plot(x,v,'c', 'LineWidth',4) 4 4
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: Subplot jgiwa

clear za2ll ;close zll;clc

¥ = linspace(-3.8,3.8);

y Co5 = cos(X);

y poly =1 - x.72./2 + x.74./24;
figure

subplot(2,2,1):

plot(x,y cos);:

title('Subpleot 1: Cosine')

subplot (2,2,2)

plot(x,y poly,'qg"):
title('Subplot 2: Polynomial')

subplot (2,2, [3,4])
plot(x,y cos,'b', %,y poly,'qg"):
title('Subpleot 3 and 4: Both')
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Subplot 1: Cosine

: Subplot jgiws

Subplot 2: Polynomial
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.ezplot jgiws
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ezplot
EESF{D—USETUHEUDHFHDHEF
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Syntax
ezplot {fun)
ezplot (fun, [Xmin, xmax] )
ezplot {fund)
ezplot (fun2, [Xymin, xymax])

ezplot{fun, [¥min, Xxmax, ymin, ymax] )




.ezplot jgiwn

clear all jclose all:;clc
subplot(2,1,1)
ezplot ("sin(x)+sin(2*x)+tan(sin(cos(x))) ")

subplot (2,1, 2)
ezplot ("sin(x)+sin(2*x)+tan(sin(cos(x))) ', [0 10*pli -2 +31)

sin(x)+sin(2 x)+tan(sin(cos(x)))

L L L L L L L

sin(x)+sin(2 x)+tan(sin(cos(x)))
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: fplot jgiwa
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¥x=0.01:0.001:0.1;

subplot (2,1,1)

plot (x,s5in(1l./x))

subplot (2,1, 2)
fplot('sin(l/x) "', [0.01 0.11)
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: polar jgiwn
223 (0 Linled (b8 Olaize j3 |y (XY) dbdd jgiws ¢l

theta = 0:0.01:2%p1i;
rho = sin(2*theta):;
figure

polar (theta, rho)
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: area jgiws
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x=0:0.01:10;
area{x,{ain{x]].”ﬁ]‘
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: COMPASS jgiwd

03 (0 inled |y palie s gz jlap Sygo 4 ygiws oyl

A=[1+21,3+21,-21,-2-41,-3.1+11]
figure
compass (4A)
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x = [10,22,33,5,18,12];
figure
ple (x)
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.bar jgiws

3o (siuled (gl (gl aluo (slaylsgad pasy (gl ygiws ol
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X = 1900:10:2000;

y = [75.995,91.972,105.711,123.203,131.669, ...
150.697,179.323,203.212,226.505,249.633,281.422];

figure;

bar(x,vy):
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hist p1S giamnads (sl 13905 oan {

il b paldxiz 5 iomio 51> g 03,5 5 sl | R

stairs B O)go U Grie ey 3%

errorbar 2315 Bl sl Ol jae o les :—’«“\

quiver L OLLS 9 s 2 (ke ey sl ;i

loglog(x,y) '
semilogx o) sl 1> 905 ey

semilogy

contour (LLdl 2> sla 4iids) )gilS slalsges ew)
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(o) b (6> dw LgLQ:)L)goJ Q|93 (P PLysva! Q,ﬂ )’| s3laswl L»
clear all rclose all;clc 'JDS'

t = 0:p1/50:10%pi;
st = sin(t):;
ct = cos(t);

figure
plot3(st,ct,t)

:plot3 jgiws
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clear =z211

rclose allrclc

t = 0:p1/50:10%p1;

figure

plot3 ygiua

plot3(t.*cos(t),t.*sin(t),t, k', 'linewidth’, 4)

xlabel ('X")
FlabEl (17T
zlabel ("Z")

grid on
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: mesh jgiwn

(SooJGﬁMﬂLgxq<bu(5héé)Jl£>ugaﬁo(5Ebdﬁl,pubtﬁb3)§g¢>C%l

E\Y

1 — clear all ;close zllrclc
2 — [X,Y] = meshgrid(-10:0.2:10);
2= R = sqgrt(¥.”2 + Y."2) + eps;

4 — Z = s1in(R) ./R;
s |= figure -
6 — mesh (¥,Y, Z) e .
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. surf 3 K
S35 (0 i
1 — clear all ;close zll;clce
2
= [¥X,Y] = meshgrid(-3:.2:3); .
4 — Z =X .* exp(X."2 - Y."2);

*

i
3

5= surf (¥X,Y,2Z)
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: ezplot3 jgiwd

ezplot3('sin(t) ', 'cos(t) ', 't', [0,6*p1i])
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I

‘0‘0

: ezmesh jgiwd

dolsy

(S

ezmesh('sgrt(x"2 + y"2)+sin(x)+(cos(y))"2")

. |

sart(x? + y2)+sin(x)+(cos(y))?

*

i
3
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2 dolgS>
Animation
Animating plots
Functions
movie Flay recorded movie frames
noanimate Change EraselMode of all objects to normal
drawnow Lpdate figure window and execute pending callbacks
refreshdata Fefresh data in graph when data source is specified
frame2im Return image data associated with movie frame
getframe Capture movie frame
im2frame Canvert image to movie frame
COmET 2-0 comet plot

comets 3D comet plot




: comet jgiwn ,0)u20

comet Sl dlis o)l S Oygo w |y psléo jgiws ¢yl
2-D comet plot . .2 o
223 (o iwled (g3 ¥ (lad j3 Syxie

Syntax =

Figure 1 - oIlEN
ile Edit View Insert Tools Desktop Window Help M

File E
comet (¥) NEAS A UDEL- 2|08 g
comet (X, ¥)
comet (X, ¥, )

comet (axe3_handle,...)

B Editor - C\User 5”'13 _Zahra\Documents
| OPAAANNAS,

02t L s
-25 20 15 10 5 D 5 10 15 20 25
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1 - clear all

2- close all T —
5 _ cle P TIICCC T T PECTaTe

4 — Lt = -25:0.01:25;

5 — X = sinc(t):;

6 — comet (t, x);

7 ;
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| test 4m | + |
1= close all
2 — clear all
3 - clc
4
5 — ®x=0:0.001:2%p1;
6 — y=s51n(x) ;
.
8
Mame = Value Min M ax
X 1x6284 double 0 6.2830

y | %6284 double -1.0000 1.0000




:Plots Tab Sa% a) jlagai gw)

X o 59y p laul
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::3‘)
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MName » Value Min Max MY 9 OJJS KS'JS _J
| %6284 double 0 6.2830 >||g il 3 e [_, ‘

y 1x6284 double -1.0000 1.0000

V jpsio ng) BY CtI'l {

q

el Oyge o 3%

Mame = Value Min Max ):U' ):\’9,,@3 g"“.)’ S a

%6284 double D £.2830 . A

ﬂ 1x6284 double -1.0000 1.0000 s sl sl %

@ " P85
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plot Plot as mut... bar scatter
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New

plot Potas muk..  semiogx semilogy loglog area

L]l

MATLAB STEM AND STAIR PLOTS

semilogx semilogy leglog errorbar comet

OPTIi
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bar barh hist pareto

MATLAB SCATTER PLOTS

(®) Plots for: () All plots Catalog

L]




I

: 03a4) @iigd Jhagai aw) Sritel

5 ook &ilgi | (oS5 Oyge |y oauzey RlgT S 39 (0 Auogi olgen
.>.>§)|w 3490 Lgtcb "’)Lsy c¥ ro|.>.9| U 9 o.s,f Sl

dolsy

0| -
X3 ‘s »9

.
L d

1
3

o

Lo




: JUs

flx) =

x + x*

vx + 1+ sin(x)

S puyly iRl

+ cos(sin(sec(x)))

0<x<10

=
2
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3
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i




clear all ;close zll;clc

¥x=0:0.01:10;

rl=x+x."4;

fZ=sqrt (x+1)+sin(x);
f3=cos (sin(sec(x))):
f=f1./£2+£3;
plot(x, £)
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sin50 ¢t
k(t) = ( cos(t + m) + Vsint)?
t+1
01 <t< 107
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figure (3)
£t=0.1:0.01:10%p1i;

kl=51n(50*t) ;
k2=t+1;

k3=cos (t+pi)
kd=sqgrt (sin(t)):;
kb=abs (kl./k2):
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k=(k5.*k3+kd) ."3;

plot(t,k,'k', 'LineWidth', 2)
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: JUb

VY ) oy
cos(10x) + xe” eI E

flx) =

sin(x) +Vx +vVx + 2 + 1

—1<x<1
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co ~ ) & A [ R - o e N
] ] ] ] I ] ] ] '

r r r r r r r r r c
-1 -0.8 -0.6 -0.4 -0.2 0 0.2 0.4 0.6 0.8 1



clear
close all
clc

¥x=-1:0.001:1;
al = cos (10 .* X) + X .* exXp(x) 7
bl = sqgrt(x+d) ;

b2 = sgrt(x + bl + 1) ;
b3 = s31n(x) + b2 ;
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f=al ./ b3 ;

plot(x, £, 'k', 'LineWwidth', 3)
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DS muy ly 5 &0

\/x(x +4/Ix + 2| = sin(x)) x cos(x — sinc(5x — 2))
M(x) =

x +/|x + 2| — sin(x)

0<x<6

—
3
%
1
3
a
i




| test 4m | Untitled2 | + |
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5
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1

1 — clear all
L= close all
2= clc
4
5 — x=0:0.01:6;
&
7 — fl=x+sqgrt (abs (x+2))-51in(x);
8 — f2=sqrt(x.*fl) .*cos (x-sinc(5*x-2))./f1l;
9
10
L= plot(x,£f2,'k', '"linewidth', 3)
12

L3
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cos(x) + x50 — xeX + tan(‘sin(x) + %‘)

flx) =

sin(x) + |x + x—\/x+\/x+\/x—1+2+1
\

1<x<5

50

—
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%
1
3
a
i

50+

-100 -~

-150 -

-200 -

-250 -

-300 -

-350 -

-400
1



clear all ;close zll;clc

®x=1:0.01:5;

fl=cos (x)-x."31n(x)-x.*exp(x);
f2=tan(abs(sin(x)+pi/2)):
f3=sqgrt (x+sgrt (x+sgrt(x-1)));
fd=sqrt (x-£3+2);

fh=sgrt (x+£d+1);
f=(f1+f2) ./ (£5+51n(x));
plot(x, )
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figure (5)

a=[0 2 1 01:
b=[0 0 sqrt(3) 0];
plot(a,b,'r', "linewidth', 3)

==
3
%
1
3
a
i

L3



: JUD

il 038 sy 355 0T (Sl 48 S oy (o2 21y S ¢

e
1,3)
1
3
a
!




figure (&)

x=[0 5 7 2.5 -2 0]:

y=[0 0 2 3.3 2 0];
plot(x,vy, "'k', "linewidth', 3)

hold on
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Xx2=[0 7 -2 5 2.5 0];
y2=[0 2 2 0 3.3 0];
plot(x2,vy2,'k"', "linewidth', 3)

£i11 (x2,v2,'q")

L3
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clear zall;close all;clc

N=5;

x1=1linspace (0,50,N);
plot(x1l,yl,'r',"linewidth',5)

hold on

x2=linspace (0,25,N);
plot (x2,y2, 'b', "linewidth',5)

X3=[x1(1) x2(5)]:
®x3=[x1(2) %2(4)]1:
X3=[x1(3) x2(3)]:
X3=[x1(4) x2(2)]:
X3=[x1(5) x2(1)]1:

x1im([-5 551):
ylim([-5 55]):

y3=[y1(1)
y3=[yl(2)
y3=[y1(3)
y3=[y1l(4)
y3=[yl(3)

yv1=0*%x1;

y2=2%x%2;

v2(5) ]
y2(4)1:
v2(3)]1:
vZ2(2)]1;:
v2(1)1:

plot (x3,y3, "k'")
plot (x3,y3,"k")
plot (x3,y3, "k'")
plot (x3,y3,"k")
plot (x3,y3,"k")
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clear all;close all;clc

N=5;

x1=linspace(0,50,N);

hold on

x2=1inspace(0,25,N);

X3=[x1(1) 2 (N)];

Xx3=[x1(2) ®2(N-1)]1:
x3=[x1(3) x2(N-2)]1:
¥x3=[x1(4) x2(N-3)1:
X3=[x1(5) x2(N-4)]1:

x1im([-5 551):
ylim([-5 55]):

y1=0%x1;
plot(xl,yl,'r"',"linewidth',5)

V2=2%%2;
plot(x2,vy2,'b", "linewidth', 5)

y3=[yl(1)
v3=[y1(2)
y3=[y1(3)
y3=[yl(4)
y3=[y1(5)

y2(N) 17

y2(N-1)1;
y2 (N-2)];
y2(N-3)1;
y2(N-4)1;

plot(x3,vy3,"'k")
plot(x3,vy3,"'k")
plot(x3,y3,"k")
plot(x3,y3,"'k")
plot (x3,vy3,'k")
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| test 4.m “"_| plot_Sm* = | pri_dam | + |

1 - clear zall;close allrclc

2 — N=10;

3 — x1=1linspace(0,50,N) y1=0%x1;

4 — plot(x1l,vyl, k", "linewidth', 3)

5 — hold on

6 — x2=linspace(0,25,N); y2=2%x2;

7 - plot(x2,vy2,'k', "linewidth", 3)

8

9 — x3=[x1(1) x2(N)]; y3=[yl(1l) y2(N)]1; plot (x3,v3, 'k")
10 — x3=[x1(2) x2(N-1)1; wy3=[yl(2) y2(N-1)1; plot(x3,vy3,"'k")
11 — x3=[x1(3) x2(N-2)1; v3=[yl(3) y2(N-2)1; plot(x3,vy3,'k")
12 — x3=[x1(4) x2(N-3)1: vwy3=[yl(4) y2(N-3)1; plot(x3,v3,"'k")
13 — x3=[x1(5) x2((N-4)]1; vy3=[yl(5) y2(N-4)]; plot(x3,vy3,'k")
14 — x3=[x1(6) x2(N-5)]1; vy3=[yl(6) y2(N-5)]1; plot(x3,y3,'k")
15 — ®x3=[x1(7) x2(N-6)]; vy3=[yl(7) y2(N-6)]; plot(x3,vy3,"'k")
16 — x3=[x1(8) x2(N-7)]1: y3=[yl(8) y2(N-7)]1; plot(x3,vy3,"'k")
17 — x3=[x1(9) x2(N-8)]1r y3=[yl(9) y2(N-8)]1; plot(x3,vy3,'k")
18 — x3=[x1(10) x2(N-9)1; y3=[y1l(10) y2(N-9)]1;plot(x3,vy3,"'k")
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| plot_6.m = | <+ |

1 —

clear all;close all;clc

t=0:0.001:2*pi;
plot (2*cos(t),2*s1n(t))

hold on

plot (cos(t)+1,sin(t), "k")
plot (cos(t),sin(t)+1,"'r")
plot(cos(t)-1,sin(t),'g")
plot (cos(t),sin(t)-1, 'm")

axis([-2.5 2.5 -2.5 2.5])
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